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Divide & Conquer

Plan
* Review of Recurrence Relations

↳ Merge Sort

* Announcements

* Counting Inversions









MergeSort ().

if IU = 1
.

Return L .

Le < left half of L

↓r < right half of1

ste* Merge Sort (Le)

str= Merge Sort ((r)

Return Combine (sLe
, str)













Slow Recurrences
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Gen .
A permutation S of 91,..., h]

Find the number of "inversions" in S
-
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Given S -- S

d ↳
Divide ---

R
L

Recurse
H2 = #inversions (2) n

R
= #inversions (R)

Combine
&

Us = L
+ Ur +???-

#inversions across LR
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Crectness. By induction.

Kim Count Inversions Sort (S) returns

S in sorted order
,

and

count
= # inversions in S












